Revision Chapter-1 : Chemistry of organic molecules
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(ARBOHYDRATES Lo A .
. carbohydrates characterized by group = H—C—OH = C:H:0 ratio of 1:2:1

UM/ g 2N =
o The functlon of carbohydrates = The main source of energy.
-‘L‘-DPJ I"JLO.\”J’g,_JI ‘_Ap‘),-l-‘—"

« Monomers of Carbohydrates = Monosaccharide = One ring of sugar( f% :

N)/JQ\ /\-(—\J/L?
« The five carbon Monosaccharide = Pentose sugar = Ribose, Deo><§\ose>

Ayt PN s Laaw L4 ek
e The six carbon Monosaccharide = Hexose sugar = Glucose Fructoser ralqclose

22w S vials> P é R
« Disaccharides = Two rings of sugar = formed by dehydra I\Fea

- ch’fose (rm |K Sujav) <Glucasc +\iﬁ//e>fose

S ,,,ﬁ\\\
e (Glucose + Glucose)= Maltose = in germlnatlng seedS\
,L.J\w),.ﬂ N el
(Glucose + Fructose)= Sucrose = in Plantsf(sugarcane sugar beet), used as

u_: U-\_,l—-' & \\,:
table sugar=sugar we use at our home AN

jon = Maltose,

Sucrose, Lactose

o A PS
. Polysacchandes = polymers of monosagcharldes = by dehydratlon reaction
| N M
w QJ_P'U O-N.&JS\J) K""” ;,«‘" \ \.Z:u'a” Z‘—: >

e Energy storage ponsaccharldes‘—“Starch (in plants, potato, wheat, corn, rice),

Glycogen (in animal liver: and muscle ceIIs)
Aéa—v-‘.»\\ o asal ‘_,‘U\ \&”’ W\-’ > ,5%:—9 _,_}l
o Structural Polysaccharlde = Cellulose (in plant cell wall), Chitin (exoskeleton in insects,
Syl sk
Crustaceans and Fungl
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LIPIDS (Lon tlme ener stora e
.‘_J.,Ju ,’;45'_,;.':

Lipids = charactenzed by group = H—C, Not dissolved(insoluble) in water (hydrophobic)

- ")M\oﬁ»’ | ,J,;____J: I
e Fats (Trlglycende) = glycerol + 3 fatty acids

— sy
e Two types of fatty acidss—

,...u..u» QLD oote\ °>pa0 -}9—)‘3.!“ qu D ,-‘ﬂ’f’ 45/;)\,};‘ ucf b

@ Saturated fatty acids = no double(single) bonds, solid= associated with cardiovascular
AP s ® 5 oo Al
disease = Animal fats, Butter,

ECTETER O |

Scanned by CamScanner




« Nitrogenous Bases of RNA = Adenine (A),Guanine(G), Cytocine (C) and Uracil(U)
ol sszaps e J— /3 5Lrifs
Thymine (T) base is not found while In DNA Uracil (U) base is not found.

In RNA

__,__._._.._._-.--—————————.—.————.—-——-———--————.—.._.._..__ .
—1 .__.__—-—————-——_._._._._____..-—————-—————-——___—_—_

CHAPTER 2: CELL STRUCTURE AND FUNCTION

——— ——— —
—_—__——_—————-_—_
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S By ¥ | ‘e B ‘_\»K’f Sos P L v \
The Cell: All q‘rﬁanf;%s are c‘é'mpc%ed of cells ="basic units of structure angA(iqetic
spllaliu L “
Prokaryotic Cells:

B re %
- Lack nucleus = Bacteria and Archea . (p \>

It QAL Vot S
- Shapes of bacteria = 3 types : Rod = Bacillus/ Spherical -—;&Coc,c@
B> Wl el < NS
- Spiral and rigid = Spirillum/SpiraI and flexible = Spiroc\tieg,e“s.\é
S ST Y Jos @2 ol

%

- Plasma membrane/Cell membrane = regulate entry and\exit of molecules.
aldl s OB 9 Aes > 2\
_ Cell wall = Peptidoglycan, support and protéct cell. -~
'é/)_S'J _w..‘ AP AN N ; wo s %-,’

- Bacteria have Nucleoid = DNA =havo'iir"C_gla>r\DN,5i = Plasmid
e g 2L ) o L xrl
- Inclusion body = store nutrients ,Flagellum'= Pushes cell forward (Movement)
Eukaryotic Cells
-\l

ucleus

~ ;f’ X )
'5)‘»3]' J‘s.r' ¢ * )

- Command center of the cell? . , |
! Zoasle s PSS PSRN G950 v 533

- The nucleus has double: membrane called nuclear envelope which has nuclear pores.
{ J "
e Nuclear membrane consists of phospholipids.

AN RASA YT
- The nucle%s contaifis chromatin or chromosomes (DNA + Protein) in nucleoplasm.
\, \/ » . N|
P N ians G710
- Ch_ronq some;*s Have Genes composed of DNA, are units of heredity.
SSWN\MG IR
; (G
- Three typés of RNA produced in nucleus:
f_ﬂ)—ﬁ'y)\ gy a\z_;/)\
1. Ribosomal RNA (rRNA)= proc?uced in the nucleolus.
& 1) S

2. Messenger RNA (mRNA) 3. Transfer RNA (tRNA) .
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turated fatty acnds = Double bonds, Liquid = Plant oils.
, (h)Unsa I GRS e\l N o 2o s s
Phosphollplds — form Phospholipid bilayer of Plasma (cell) membrane

,\”__‘_JI é\;LW.fr—a\.’bz

< & eroids = four fused Carbon rings = Cholesterol, Testosterone and Estrdgeq.

A} =) AT
s $Vaxes = for protection. [Ce” membrane Phospho\\\:\df-\— S’f‘e(\’

PROTEINS 5 %<:: S
‘a—.u—'\ UoLz\
df§? lle building blocks

Monomers of protein = Amino acids=20 types of amino aci

Simplest amino acids = Glycine, Leucing, Serine, AspartloaCI

V- ‘>\ /

Amino acid is characterized by group = NH; ——COOH\\Q: S

s T and i
e Proteins are important for structure and functl oF\vc Ce
D1 yail \’
P \ y
« The most important role of proteins is as enzymesv
S\ umsn N ”.“:‘“’
« Hemoglobin is a transport proteln = Transpo‘rt: Oxygen.
A VS) 2o\ ({,..»3\ "\ ‘}
o Defense e protein = Antlbod/|§3§ A\ Y S
uv-)_r o0)S B _re_) _,'\X.\S\
- Structural protein= Keratln(form hair & nail),
P RTE N W e oh KIS,
. Am|no acids are ]omed by Peptlde bond .
d/))o‘“(_p(_?ﬂ‘ ':;Tv"':r%h"‘\ _“% . g f_',

W N

NUCLEIC ACIDS: o By VY = ,

=" \aylll -’u«-S- (_.J\Jo) "'J’yg—’”
. Informatlon nch polymers of Nucleotides

Y VPN _,_LL" o @ €))
e Each nucleopde is'composed of phosphate, pentose sugar and nitrogen base.
fu:JJ .wugb:’*’
® Anucleotlde (vithout phosphate is called as nucleoside (sugar + nitrogen base)
<1 NN \ “
O Zr5 )
. DNA /) Deoxynbonuclelc acid, Double stranded, sugar is Deoxyribose.
N > an by

« RNA = Ribonucleic acid, Single strand, sugar is Ribose .

« Nitrogenous Bases of DNA = Adenine (A), Guanine(G), Cytosine(C) and Thymine(T)
4:).)}‘ A/“f T . A

e Adenine (A) always pairs with thymine (T)= by double bond
o Cytosme(C) always pairs with guanine (G)= by tnple bond C G
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C\.\u.h M‘LAS- J“ Ars K \_,)
- Skeletal muscle cells can have more than one nudleus
(Ll \4_,./_,':»)‘
ibosomes

N‘:}_J‘“ SL‘J sl ")L'
For protein synthesis = composed of two subunits,

32 oM was _
Two types: 1. Free ribosomes (occur freely) 2. Polyribosomes (occurs in group)
mﬂo\_A\ ';C.J.,:‘,\\\ J\an.
THE ENDOMEMBRANE SYSTEM

O o OV @c\r-/\l\/)p\hh__?, @c,:a—\_,:.,\.? @/.

Consist of: Nuclear envelope endoplasmic reticulum, Golgi apparatus Veglc e§‘:>
g Mr o)\ VJ._.,..J\
A.ENDOPLASMIC RETICULUM (ER): Two types: J> ﬁi
U fau> studded -5 WAl "’J
1.Rough ER: - Ribosomes attached, ‘;

oduce proteins, and make-

glxcogrotem
s \_W <& ?Li"‘s

Aased i
2.Smooth ER: Ribosomes S not attached, groduce Ilplds,A /teStES’ produces a steroid
.»Nz s’ ¢

\ N v’
hormone testosterone, m liver detoxify drugs AN f}
25> o A r'-:.‘;j-x\{\_t ‘
B- GOLGI APPARATUS NN
-~ ST O

- Discoxered by Camillo Golgi in 1898 ™
- Consists of saccules that have ve5|cles at edges

Caunn e L % nel s 5>
- Sorts modified molecules and package them into vesicles.

SNl =i —
C. Lvsosomes NN -

- Produced by Golgi appara\:c“us \
NJ;* ,_,L; } \\ VMJ J_’-L\
- Store hydrolytlc enzymes to dlges materials in the cel

Ju—e v\n)u\\ N JL@\

- Destroy non functlonal organelles
\W R < s\

-In WEE? blood cel|5v{hey dlgest bacteria( for cellular digestion )
e 2O\, 4

SICLES. \Il\VA!.'ll()l.liS

\ < '\\. \ ]—“) cy R\

A. PEROXISOMES

e~_J—4J
- Produce hydrogen peroxide (H,0,)

Cual r-_,_a_,j XN o Y\ —
-ﬂflgs_l_ and breakmg 0 . § i3t
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- Carry out a reaction that uses oxygen and releases carbon dioxide
ot s\soidl
B. VACUOLES : o .
-=-W\..~.s @Lﬁ—— J‘-H s C/\LUJ.“
- Membranous sacs larger than vesicles.
Qs Sl fo o (oW s UL thllu\ ANAPY
- Contractile vacuoles remove excess water / Digestive vacuoles break d

°u _)-—J Ju o,‘:_ﬂ)\
PLANT CELL CENTRAL VACUOLE _—
FERt = leph Mg Y el (‘;

- Take 90% volume of cell = Mamtams hydrostatic pressure. @
¥

iS5 Slesdl sV A el 2 __,wg*

- Contain (sap) water, sugars, salts, nutrients and waste groduct

f.\w’ \ <\ ,3‘\
- Have pigments give colors. O
ol e’ kﬂ"u '{x\ ,‘*s:‘ N ‘
- Have toxic substances protection. (a‘ ™ x\ .,,t,,
Roo\R)d\ o-.}«'lﬂf S llas {:%r;; Y . \
S)THE ENERGY RELATED ORGANELLES NN p Uy
sUpAV a1 PRIV N E BN YR
@CHLOROPLAST Perform Photosynthe5|s contains chlorophyll.
L -;a\b N)’.) ,.fy\'
e Photosynthesis needs = ‘Solar energy Y Carbon dioxide + Water
‘-&_,_/unl t
- Stroma contains Qﬂ/_\ rlbosomes enzymes
el o O Wadelst e Sl

- Granum capture solar energy— ‘stacks of thylakoids.
o Other Types of\Plastlds :

sbeJ\“Lu_-W‘” j \E‘)JW oYl

1. Chromoplasts {espon5|ble for the colors.

ASLETAR foladk Sl B L VA L D)
2 Leucop'lastg are colorless plastids= synthe5|ze and store starches and oils.

NuDRIA: - Perform Cellular Respiration= Power house of the cell.
O MU\ .01__-—’
¢ of mitochondria can vary dependrng on their activities.
PREVIRFIURE L Yy cala oefle
The inner membrane form cristae encloses matrix

Matrix contains mitochondrial DNA, ribosomes, enzymes.
__4..'»-'

- Produce ATP (energy) for the cell.
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Loz sl 2EAHNB LT feads e =g ol oGl
4. Anaphase: Sister Chromatids part and become daughter chromosomes, move toward

VAT
the spindle poles. ‘
=l it g eSrsd\ ot o 255

5. Telophase: Spindle disappears, nuclear envelopes,nucleolus appears i

daughter cell. %
o Cytokinesis: Division of the cytoplasm @\
'—i,\b‘-- ua___r.JJ s é/‘ Al MV
2 If mitosis occurs but cytokinesis doesn’t occur the result 'sﬁ{a}ngl j ucléated cell

> RS \/

T
- In animal cells by cleavage furrow formation
e e X oy LY
N Q asexual reproéuc*\‘on

- In Plant Cells by cell plate formation

’;.L\‘?’"CU‘ (L—“‘"‘ - AN N,
« Prokaryotic cell division takes place by binary.fission (Bacteria and archaea)
4 \‘%:\:b\\\b\f ——mmmmmm==========

—————— SN\ et et
Chapter-4: Meiosis and sexual Reproduction

RPN Ny Sl YT s pelal Lyl
 The Feductive division that’occur |\n;§gfnad% is= Meiosis
- W AL _—
ww\ Z:'..‘N' )S;fs\r% . = Z“’: :\)\
e Zygote résults from fusion of = Gametes. L
PIITREG it A j,}%\é T preaaptd [(STV IR VRICRTPoe

« Spermatogenesig’OCclirs within = The testes = For produce sperms.

N et .
Rari ,/”‘«\N‘* 3 vkl 2w =e/y
. f\\ Yoy PFe § _ -
e Oogenesis OCeUrs {wlt@n = The ovary =For produce eggs.
T INNNT S eI o COMDV,
o Gametophyte'is ffg-'l'he haploid generation of the plant.
PSS ST S
. Spo_ropbyﬁceﬁi; = The diploid generation of the plant.
\"‘\,‘\. e A5 ot (st T

NSy )V L : - :
) MEIBSI\S) require = Two nuclear divisions , produces four haploid cells.
.;‘j - —— e

 The number of chromosomes is diploid (2n) in = Zygote.

« The number of chromosomes is haploid (n) in = Sperms ,Eggs.

Oos Sl Tl et wbBE i arabls v -1}
e Exchange of genetic material between non-sister chromatids = Crossing over.
" WY DU sl —
e Crossing over occurs at = Prophase I o5 oLyl
A ) Vel el

e Meiosis occurs at = tests , ovary = produces eggs and sperm

a
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'« The genetic variation takes place through =  Crossing over.
AL TN Trs AL e,z S e :

“o A bivalent is = The paired homologous chromosomes, from male and femls,/
stst Tosd Az 25y Asadl 431
During oogenesis, the primary oocyte has the Diploid number and the

AN
oocyte has haploid number of chromosomes. "V
b PARRY LJ\ a3\ Jos Lt -

Alternate forms of a gene are called = Alleles )
el D@ el S adlels w_/étvv‘ﬁf )\
e..

— ' . NG

The egg leaves the ovary and enters an oviducts afterz’ Metaphe
Meiosis in males is a part of = Spermatogenesis %
QO
 Meiosis in females is a part of = Oogenesis N3
(AT 8 T maw O ube;é | GAs

e Oogenesis will not go to completion unle.ss\=\ig_jjjzation occurs.

AR

%4 |
P ‘,\9 Y S v
PRARN . '
{{@ c,'/\/L:—PJ E/fd‘;_b/‘b@?ﬁb‘ ¢
&K NS W L AN S W
AN/ RS T WV A e
AR bl g b s
OO 3 W] PN Iy SRy
N ‘“‘j:‘,‘;/ﬁ " - e
3 N - Jrmabl S (2 2

e
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Endoplasmic reticulum  Golgi Apparatus Cloroplast

Nucleus:

Nuciair envetope: :

Animal

Cell

Lysosoms®

Vesicle: smalt momdrane-
bounded sac that sores
and transports substances

Cyboplasm: semfuid
Matr OUASIdo NUCIOUS
that contens organetos

Daughter
chromosomes

Anaphase of Mitosis

aslof chromabds Interphase

St
(growth and DNA
 replication) .

~ Gp -
(growth and final - P28
preparations for
division)

@

| onw ctvomand e
9
Chromosome l Metaphasé[of Meiosis C_) The Cell Cycle

- ka2 e

Scanned by CamScanner



(CHs.:5,6,7and8 ) neld el Galas

and Cardiovascular System
PIRTAIPIEN] Ly(dy

Chapter-5: Circulation

=SpA\ o ! 50 i 3
Q_‘n&m\m.o mrm..m_mau .qm_:,wmm‘;m oxygen and-nutients to the cells.
o) h n\_,mwmm Qqnﬂa_m\nm B A.MBL. Cardiovascular System
e « <
S Nav! " ry 2y; PFEYZESL &zr ¢l

o All vertébrate
@2\ D)
lood vesse

Al o ) &=

B Is: Arteries: carry blood the heart, Veins: return blood to
= = \wa” 31

Fm«m‘.m_os
: Jates sl S

~pillaries: exchange materidls-with tjssue fluid. L ,
Enmmn@ \\E_..@F.b Ry e e ) 28 B o)
o Human Heart lies in pericardium, inner=surtace Is lined with endocardium, Septum
Sl ) P
separates héart into right and left side.
~L ¥ W3 o\=¢ PPN
« Human Heart has 4 Chambers, two uppe
el I D\/.\K\I\_L.M % vy )\u‘..n.rv\ zal .ﬂﬂb_
two lower thick walled called ventricles(pump-blood) VL )

a2 par—o
r =afria( receive blood )

[ ]
Do ds d Cllked ™ r = ) e )
e Human Heart has 4 Valves, 2 Atrioventr cﬁ?ﬁﬁmm between atria and ventriclesT
e o SU ey Aule okl e _
left side = bicuspid or mitral (has two cusps).

e Right side = tricuspid(has three cusps), sid
2 semilunar valves (half-moons like)~Pulfonary Semilunar Valve = between right
A Pl A e e .
ventricle and pulmonary trunk, Aortic Semilunar'Valve = between left ventricle and aorta
A [ T T cah ., ofdlakas -
supplies blood to the héart ifithe myocardium.

e Coronary artery

s—r A . S . . |

e Path oﬁmk_\wwm_m.\u_mn_camm two major n:nc_m_ﬂ Um‘wﬁ_iém«\m. S e B
1-_Pulmonary circuit: in Lungs _ -] 2- Systemic circuit: in Body.

\ )/r —A\h i H ZMJ \(rr\

)shl.)\nu— hu.\.h ‘ , ...
e Right atrium — atrioventricular valve.(the tricuspid valve) — right Ventricle  _,
=z S e T n=m s el e ~r =)
pulmonary sémilunar valve— pulmonary trunk and two pulmonary arteries—lungs
2 sapo NPT LE A = VY | = 5\ o
Pure Blood (0,)— four pulmonary veins—left atrium— the bicuspid or mitral
_un\.xfnv.x A R a7 Ara N
valve — [eft ventricle —> aortic semilunar valve —> aorta — body tigsues —>
Nl\|kk|ﬂ\'\mn o rhbbln P _\\.\\\ s QG‘\[N»WA\VL\“ )sk\.w\(...w_
Impure blood (CO,) — superior vena cava and inferior vena cava — right atrium.

Wzl 25> pl@ Pl g
Heart beat = Systole + Diastole, Normal-="70 times per minute
e wadl D= )

Systole = contraction of the heart chambers;:Diastole = relaxation of heart chambers
=5y Jdan UL 2l ) )
Functions of the blood: Transports gases, nutrients, waste products, hormones Déstroy
— rﬁ\nr. . m\f»ﬁ..: .V\Xb\. L A3 Munw.lw_‘\\ 2= !

pathogens, immunity, maintain water, pH-and body temperature.

P T PV Loyl PU - 5o cs s ELUsl,  sled
. w_ﬂﬂms m_o,wm‘._..am two main portions: 1- Plasma: Liquid part contains nutrients, wastes,
RS pole (AP

A,
salts, and uaﬁmm:ww ,1LN.r.,mwm formed m_mBW_._Hm‘,..,G_ooa cells).
s " bhans 2 iphn LS a0 bl
Red blood cells (Erythrocytes): small, bicohcavé disks, lack nucleus, contain hemoglobin

J= Co ez Il Gla
carries oxygen or carbon m_,o.x\_am. If RBCs low.individual suffers from mmmim, 6 _million
e PTG L2 WA

RBCs per cubic mm, manufactured in red bone-marrow, life 120 days.
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s Lo\ e S\ =
o White blood ceIIs (eukoglt es): large, have nucleus, Defen’dwagalnst dlseases,

5 types: Neutro hI|S and ono_c_ﬂes = pk ’ i¢ ‘v es and anti- m?lJammator)‘l.
?ymghog;es = develop |mmun|ty @o ~ S rac
L

= t he arln: “ _ .
©B_Q§9£ﬁ'l§ contain antlcoagu’!ans Parin. [ 5 (1)

j karyocytes in red bone m‘arrow blood

.kln ood cIottlng, or C oagulatlon

( J,‘})\

_____.__——-——--——--—————-—-——_ _.__.__ _——-—.———_——-.——_——_——_——.—_
s —_— — = _— s __.__.——._._-——_._-————-_———-—_—-—
—_— —— e ———— —r— —_— — s —

—_ e —m———

L]
Chapter-6: Digéstive System  _ .. .
Sebs =PV IS U Y de_:_. ,\,_.j\[z‘j;_"'_al g s WAADZE
« Function of digestive tract=ingests foooLtire 2KkS food down, absorbs nutrient, eliminates
uw\

remains. ® é'h @f,nU\ A SJ}‘ @ i) @’é")‘:w&”
« Human digestive tract = Mouth —> Pharynx —» Esophagus— Stomach —> Small
M,J sy v&{:&
mt)ecstlne —\—» aﬁge mtestme e AR 3 A ¢ RN

o Méchanical dﬁa—gstuon Chbevvfng in mouthcghurnlng, Mixing |n stomach and small

s@)\
intestine. 2. Chemlcal d| est|on b nzxmes

e Human Dlgestwe Tract: Complete beglns W|th M uth and ends in An

a2 V)

(® The mouth (oral caf/\l!ty) palate(roof ofﬁ the ﬁoutr&jeparates oral cavity from nasaI

] o> DY ' Ers o\

cavity, fleshy uvdla is posterior extenSIon of | soft palate, food mixed with saliva by

L) e\ ;3\63 L\Jr“' b AP PN '&,.g_—/wu..—-"

tongod% saliva received from palr of~ sahvarv glands (parotid, sublingual and
hAS

asa\ IITA R \J;.\ (O
@ ha:rlynx both dlgest|veJ and res&r*atory passages come together in it.
cle

submandlbular)

2\ A\ ala)
« plglotu s closes air passages during swal owm

pryv Ry S T S T K- s\l
@ soghagu takes food to the stomach,;Pensta is for movement of food
DA__I.L\ v y @

Stomach thick walled ?‘5 on Ieft sd f
@ st v I e vour paﬁ Fundus body, Cardla :\’nd Pylorus),

3Iayer of smooth muscles: duter: Iongntudlnal mlddle Clrcular lnner Oblique.
wm shes 2

_b./ w_/
Stomach has gastric juice wh‘nch has acnd|c~med|um due to HCl (pH=2).

o
Secrets pepsinogen n which converts to pe
el ! oW p psin by HCI g S5 Logm Lo\ A
@ SmaII mtestme |ength = 6 m, the first 25 cm called Duodenum (A duct brings bile from
\ o/L\OA)‘ ~* Ua\‘,\_,..“ ‘7"/;} LJ_,.AJ:'
||ver and pancreatlc juice from pancreas), wall cojnt_ams layers (Mucosa @gubmucosa

WA ha
Muscularis, Serosa), fi nger like prOJectuons called villi for food absorption.
v =l Ve LRONV S

¥

Each villus has thousands of microvilli.

‘ T o (e U
mall intestine has basic medium due to sodium bicarbonate( NaHCO _)

EE ©
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5N rlead) RV SR SR o Vg B @ &
La!gg_._n_tgsme 6.5 cm dlameter, 15m Iength consrst of Cecum, Colon, Rectum, and

\q
) An’us absorbs water, salts and vitami undrgested material.

juu\o
m has small pro;ectlon called ver .
e o r[:i era nA allbladder
EL_————_—— Juuf CJL/JJAJ' ’1,,u5

V)
° ACCESSOE¥ dlgestlve organj pancreas, v »

Pt )5}
o The ancreas secretes insulin and ﬂf’ca iIhormones keeping blood glucose normal
_/\—‘J‘\ NG .'v"

and produges dlgestlve enzymes. ex.
S largést gland. G/\)

e Liver: |a;es g,an yoe e L }u )

o Hepaticp [ Vein trans orts nutrients from mtestmes to liver. .

DRI A\ &a5
) Fundfons Detoxrﬁcatlon, stores gfgco”s"é“'a'\?ll glycogen, produce urea and blle, regulate

cecuml

yIase,

J2A~ [P
blood cholesterol IevelI h_}:ﬁ “g ]
J
aI Iadder Stores bile
\_)\‘_,—‘»\ ?:.,M

U 5 s,

= The d| estlon of starch begins |n the mouth
Y g ,.?ﬁ. g f
= Protein dlgest|on begms in the stomach

{- Starch (by sahvary amy‘ase ( ﬁouth).l“_ﬂ*-\’;» maltose /3w Lin the mouth ]

__q______AL_—
° lestlveEn mes: Ly \M & i (“M

= Starch ( by rjang:reatlc amylase )- _5_1“_“::_‘_"“. maltose Lin the small initestine §

= Maltose (by maltase) 5_"‘\;“—"11 glucose + glucose ----- (absorbed)

i sl

N-t___/‘) §
{- Protein (by pepsrn)( stomach) ————m | peptides
@ MJ

= Protein ( by pancreatrc trypsm) — peptides
v Peptldes (peptldases)__—>‘ amino acrds ----- (absorbed)

sCad\ 2 GO AL §

= Fat (by bile sa|ts) —» fat droplets _ )

@ -/‘"‘“"3 smal\ int o> oLz
= Fat droplets (by Tipase) — glycerol + fatty acids ----- (absorbed)

VA | Chapter-7: Resplratory System
« Respiration has two parts: fan)
N\ EIAtY L\,u Sy ,|,,)\ CAI ")(

1. External respiration: Gas exchange between air and blood in lungs.

q:\—)Sl

S
2. Internal respiration: Gas exchange betwee
sl Ltemmal 1 p 0 \ g n blood and tissue fluid.
® ung the main respiratory organ in Human

d.;
. Ins |rat|on Inh =
Inspir X alation = Air comes iny the |ungs

o Expiration = Exhalation = Air rushes out from |ungs
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———f
— adlel LA s

, During inspiration:( Nasal cawtres —— Pharynx. —» »Sbttwls ST LarynX —

”"ﬁl{c ea ——» Bronchi — Bronchloles ——" Alveoli )
eIl s PN |

o Alveoli :where,das exchange occurs wi b‘f od ca |||aries.

| ol d
o During nsolratlon the ri bcag goes eraphragrn lowers, lungs e)jpan
o During & xglratlon the rib cage goesd:@ﬂn_d dlaphragm_SQS_(QQl Iungs COHSU‘CtS-

IMoLDYl _,b =y ) 5 o ,ﬁ\;
o~ Bronchitis: 2 y s are mﬂarnsd due to-infectiop , coughrng nngs up mucus and p

U \u ) .: AL J3 [pameacy \_.J
. "ﬁeum%nla alveoll veo|| fill Wlth pus ‘and ﬂurd"makiﬁg gas exchange difficult. yr
A\)\}_.-.J ]Iys«

duced.
pulmonary tuberculosis: tubercles encapsu\te: acteria, elasthty of lungs is re
’ FRYCA 2yl d—uJ\U’,C-‘ EVIVIN / tﬁfe}wl %, \ Blall gy
u

o New strains of tuberculosis are resistant; to'} sual antibiotic theragy

. pulmonarv fibrosis: ﬁbrous connective tlssue bgnds up in lungs.
TSN ASZS = Ll

. Emghysema alveoli Eur t and fuse |nto enlarg‘ d air spaces L=

s Asthma air way are mﬂamed due to |rntat|on, and bronch|oles constrict .

é-\’! \ o) PEREAN prony
e LUngs cancer occurs by smoking. e
et P \?)3 \
. aajor Iung dlsorders due to cigarette smokin j“’j; i
e yrrSTEIT RS 4 KVSN Aoy | gy

In chronic bronchitis, mucus is commoﬁ and the\cuha are gone.

Emphysema and Jung cancer occurs due to- smoklng of cigarettes.

__.__._._—_—é-_—_—-—__..—____-—_——_—-—_—————————————_———_——__._.__._—
_———-——————————_——@-———._——_._._..._ __—_————__.____—_..__—_——_—

AR AT Chapter: 8: The Human Nervous System

'éllree specific funcltal-o\ns Cw ) s T\
ceives sensory mpglt“ (2) Performs |ntegrat|on of CNS. (3) Generates motor output

Nervous S stem Cons;_ésts of: ) ét. ) d _9/, &3
The central nervous system (CNS): consists. ‘of brain and somal cord .
LD AR e Faady &= BNV g E L) =L
Brain: hss four main parts: Brain stem + mldbraln Dlencephalon Cerebellum and
Cerebrum )

oot ;

L le ) o2 ,\_..sug f“".’-—’
e The Perlpheral Nervous System (PNS):, con5|sts}of (12) pairs cranial and (31) pairs spinal

neryes and gangha o
(Bolr)) Goe—2 et @)ll‘ ‘,JC.D
(i). Somatic Nervous System (SNS): Prowdes gluntary control over skeletal muscles

A?J‘ s Sl
(ii). Autonomic Nervous System (ANS): controls smooth muscle, cardiac muscle, gland

o divided into g(mgathetl c and Darasvmoathetrc.j Ciavoluritary )

PR ANV

VD - Lo

- Sympathetic nerves: Increase heart rate, Ra|s€iblood pressure.

"l
_ NEESeS ] St
arasympathetic nerves : Slow heart rate, Increase glandular se/cretlons( digestion).

soos— K-

Scanned by CamScanner




N .
Nervous Tissue 2 ¥ 5 %

ol 2l ——
,“Neurons or Nerve cells: Functional unitsie
< \cr—ao h Lo "n\TqJ 4 5 E:PTI 7
‘& Cell body: have nucleus and organellesszy o,
® lj ||,/' _a_#) ._‘.-'\/\_"_4- .-u’ .‘i;

22 o Yaceive signals and transmittoseelibody.
@Dend‘rltes r}/J E el €ell:body -G " ;

p\d . . —— .
Axons: convey' . information to anothefTeugopror to other cells, form nerves covered by
BRYE i b NS R =i N o R T S

Lo : —l o )
white insulating laVer called myelin she ich formed by Schwan cells.

= \u\ T
In PNS, Schwann cells have ga’ﬁs called noge

& s . _ il
Types of Neurons: o sl ___,\,-/‘J P I Wy

of Ranvier.

. M‘J\&fb) r R o B
e Sensory (afferent) neurons: take nerve in‘fﬁg_l',g'e}s from sensory receptors to the CNS.
Gz | ————
o Interneurons: only in central nervous system , ,
NS 4 Y 1 Yo >3/
. Motor (&fferent) neurons: take nerve ifiipulses-from the CNS to muscles or glands, have
wys A2 A \o 5 r""‘m:':‘::

many dendrites and a single axon. 7T
ceaalivmlbs o S e T
Neuroglia or Glial cells: Support and nourish’heurons.

M

o o S S T — T S — S e S — T S S S S S S S T T T
———_—_—_—_-—————_—_—_——————————————_—————_—_————

Soft pa!;are

Nasopharynx
Oral cavity
Uvula

v Xy & '
% 4 The parotid glands
The sublingual glands The submandibular glands

Salivary glands 7;4:\-.” WS
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Mmoo /" [ T Mouth _ Hard palate and
;o 3 “ = .
salivary glands = },?\.\‘\
;T Pharynx
- Solft palate
s : Esophagus Uvula
a Y, % ‘js‘h
Liver R G Stomach
2
)
Gall Bladder C (e 0
14
W {7y Small intestine
Pancreas 5 RZALY

Large
intestine

SR L

-

i g

a

\ Q /' A g ' food material
. — Appendix
‘\ "*/

\_Cecum
S The Small intestine& Large
ow Dlood fiow
1 puimonary artonolo
ez
puimonary
vonule
bronchiole
obulg
network
‘ alveol i
Alveoli

0559132475

Large intestine

Rectum

Duodanum

— Anus

Pylonc

onifico  Pyloric
sphincter
|

~Three layers
| of smeoth
muscle

curvature /

The Stomach

common hepatic duct
pancreatic duct

duodenum
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Micdie layes
Outer Iays’ 1

.‘_.__’J—o—.r‘:: ] smooh wlasrtic

FLTOUS CEnt muscle fsiue

Inner layer
1

—— "
' ¥ enacthetium

Outer layer Mkldlr layer
]

s R |
JEroUs COrmEstive U3sUe smeeth

olastic

lnrnf]l'yl"

andathehum

mus<lo rasLe

A

T
e s i et I T

Te T

Py e T

cinged vatoe

) Superior
Cava

Interior Vena
Cava

¥ oy e
e

Pulmonary
Artery

Pencardium
(sac around heart)

B
" .
{

Endocardium
(inner hiing)

Myocardium
(heart muscle)

Epicardium
(outer surface)

The walls of Human Heart

e i
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D F;r—;ru_m\'

i
Seag

@ Dlencephalons 22
) thalamus

(surrounds the
third ventricle)

hypothalamus

pituitary gland

® erain stem]

midbrain
pons
medulla
oblongata

spinal cord

Myelin sheath

Axon
Terminals

Neuron(nerve cell)

mNervous_Systenn | Three TypeS Of NGUI’OI"IS

Brain

Contral |
Nervous
Systom
Spinal Cord Direction of
conduction
Dendrites
Poripheral
Nervous

Systom
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r2 S P IFIOA L )\,a;' !

site of hoto nthesls is = Chloro Iast P
T:he e R el =L 2 CY\: p &) o’ S 5
In photosynthesls light lngepen nt reactions are known as = Calvin cycle.
o —

Photosynthesis is oﬁv:ded into two parts Light dependent reactlons and

Y (R v
light inde endl'“ nt reactions.
gb A P L,_JJ)\ S}l ,_/\.J\ (‘,-AJ r_—_j,ad)\.tw
Leaves are the major part of a plant that carries on photosynthesis.
U\LL—;J RV Coa (,——/9

Photosynthesis requ1res water, carbon dioxide, and sunllght
| ‘}d-\.n'J St [V 2 SWW |
nght ependent reactlons take place in = Tﬁylak0|ds

t./)“ Z

Light mdependent reactuons take place in= Stroma
Light independent reactions requ1re ATP 4 . NADPH and CO,
Light dependent reactions; are= Energy\harvest

Light independent reactions are= Synthesis.

o' e\ B, ,,‘,/.G-W Joie—
PhOt(/)\%lﬁted.TJ co(ngsts of = Antenna and electron a‘cceptor
R ATY )
Cytochrome system is = The electron trarq;port system.
/\i' I L C/'-*LP

The eléctron pathway that produces only ATP = Cyclic pathway. |
gal=rs
The electron pathway that produces both ATP & NADPH = Nancyclic

pathway.

The light independent reactlon produces = CeH1206
PR ),qdl._,ybL.uJ'
At Ph"otosynthesm, O,is produced dunng nght dependent reaction.

&z
Durlng light dependent reactlon Oz is produced from = H,O .
o Lime)
The photosystem I has maximum ahsorptlons at =700 nm, _~ep SN

wlls)
The photosystem II has max1mum absorptlons at = 680 n.m. ~ % e
L.J‘\‘?u‘ é) 1(!\/ —/)*-r :v-‘)ls"““':
The regenerations of ribolose blphosphate occurs at= Calvin cycle.
2 A\ > -".:“D)’ Yl \Ap'\‘ |
During Calvin cycle , the two molecufes of PGAL combine to form = Glucose

phosphate 26 et St SOV 4o

Carbon d|0X|de fixation takes place at = Calvin cycle.

6C0 +\2\‘\O Llaﬁenegj_____——)cs\“\ Os—t-SOz—\-ép\eo

‘ . i
i 0550132475 }'@L L ol g dlosiao |
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. 80% plants are owerlng plants (Anglosperms)

lan sgess two systems: |
o Plants posSesstwo systems: e Ul i
1. Roots system (The Root : Anchors & support, Absorbs water and minerals,
Mad) | AR ES RV ) ,l.__,\ o mp>a) U A

Stoi'z foods, (asin Carrots sweet potatoes), cyllndncal shape to penetrate soil.

- ‘)3\ 'lp——) C)/J\ J—J_f- uo\,.uhd

o Root hairs and brar'tches mcrease— absorption
s o~

" ot system: Consist of
2 Thegiogt syssam; b M do O

(i) Stem: main aX|s of plant consust of Terminal bud: at top, elongate stem
o oV oY g sa512 ATt /TS | B W

and produce new Ieaves Axullary ud: at a node between leaf and stem,

st &) U’ SV, sadl L ot S +

“produce branches (or flowers), Node: where leaves are attached to the sTem.

aoyuel | ~nt )l

Internode. between nodes.

SV LD

o (ii) Leaves: carry out phofog) ntheS|s two types(Plan'l’s) ‘
SatpaD Shlaad r-‘—/d-’

S

Bre=\AE |5
1. Evergreens- whole year \yv,{' R 2 Deciduous: Iose every year
=D LT 'I—-ﬂv‘-’”
o Leaves consist of blade &\7 de pomon), petlol (a aches to stem), some _
Zvampoin ur:.:r 2 A 3 W
speqallzed like tendrils (attach to ob]ects) and bulbs (store food) or-capture
insects. __],H.&Pu SRIPITES

o Flowering plants are of two types: Monocots & Dicots

Xylem & Phloem » Vascular Bundles . i Parts 3 or

e 1, Monocots in a ring Scattered multlple of 3
| =2 1Ml LI (,quﬂ‘)—::"k}“r}'ﬂ d“‘ Egtess) ¥ L .,_,D)‘ﬂﬁ‘
- .. ~ [ ,

b Phloem between | E i e Parts 4-5 or
e 2, Eudicots Xylem ] ring e’ ‘ multiple .
(Dicots) (star shape 22t Al 2 — 0} ¢ NN

el"/b@/é : }/\‘}\19»0,\

Wf}

Y —»— S
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» Tis! sofFlowerm Plant's: 3 ~Ed ol oy LM s

i rp a2
"’@Ap@l'mgrls@ems At 3 near tips of stems and roots, intrease length; produces
= Lol f’w-'—*’tf'f“—J‘.
three types of meristem: %,u\ S grse P

1. Protoderm: gives rise to Elderm s (forms outer protectlve covermg),

WG, 2521
2. Ground meristem: produces ground %ISS e (ﬁlls |nter|or of plant)

Fu )
3, Procambium: produces vascular t|ssue (xylem & phloem ) . "

J‘/)\ ?’-""‘J o~ Ml-d"" ~°3
®E |dermal Tissue: Plant body covered by epidermis with a waxy cuticle to

AU 523
pr vent water loss and mfectrOns $Ues Sl

- In leaves guard cells (eprdermal cells) with chloroplasts,
s' f b lk f lut‘ d cont Py
: forms of plant and contains:
® Ground TISESUE or | uLLAp\ M;a/ conains: P g
1. Parenchyma: most abundant, thin primary walls, contain chloroplasts and
SV 5 c_&yd S\Jl

carry on photosynthesrs.

Q-J_’\N‘JJ.D }4\ Mual)‘

walls, give fleX|ble su ort, : _
2. Collenchyma: tthk prlmaﬁr}; ¥ Nl/c;;: pp Pns 3
3. Sclerenchyma: tthk secondary walls of Ilgnm, hard nonliving, support plant

(..)LL,)

WO ES: (sl s 2ot

a. Flbers (commercrally important)
f-t:)l\-\b) J,.NJ\ p..j.tl

b. Sclerelds (m seed coat & nut shells)

ZF——A\ 35 - ..a__.J\
Vascular |ssue(comglex tissues): two types: S Y

o0 FuN wo sl

1. Xylem transports water and minerals, consist of Trachelds and Vessel

MfEl_J-\w»ll |u=’ rs

~ ‘Elements, nonlivin

R el < el IR

2. Phloem: transports sucrose and organlc compounds, consist of:

uj\a CAutd \_;\ )O)J y nu_,J\
a. sieve-tube members (no nucle|).

=25\ S W 3l

b. companion cell (have nucleus)

\g_)]{;f—»l o U Zoleal)
C. Sclerenc yma flbers for support
-in roots they form vascular cylmder
T A, =
- in stem form vascular bundles.
T (PR
- in leaf form veins.

Scanned by CamScanner




Terminal bud

Intemode

Shootlystem

Root system o o gam
l K—\

B, - 2
2

Jd . Tradh
zfesv)nerd' mjlt

sclerenchyma cells

/i 7
~ cotyledons i ©  Root" Stem || leaf .|  Flower
(%]
% .
O
o
o
c
@)
=
Xylem& phloem as X\I|em%tph'gem Parallel veins Three or the
ring scatiere multiple of three
n
dd
O
2
()]
Tow cotyledons Xylem& phloem as Xylem& phloem as Netted velns four or fiv.e and the
star ring multiple
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Choose the correct anSwers.
1- The organic molecules includes...........
a- Carbohydrates + Lipids ~ b- Proteins - Nucleic acids

2- The function of carbohydrates is.............
a- Repair tissues  b- Build the body c- Lipid source

3- Maltose is a

"~ thapter (1): The Chemisiry oi Organic Molecuie

_d-tA\l//a}e correct

rgy storage

a- Polysaccharide b- Disaccharide c- Monosaccf ’ d- Protein
4- The pentose sugar of RNA is /5
a- Glucose b- Maltose c- Ribpsey 4 d- Starch

5 Proteins are made from amino acids joined by \'\,\#
a- Peptide bonds b- Hydrogen boncjg;?c\; Iitgospho diester bonds d- none

6- Nucleic acids are information rich polyme s;tb\’r"\ 4

a- Monosaccharaides  b- Amino acids \C Fatty acids d- Nucleotides
7- A disaccharide is formed by joining(61‘1.‘:??..monosaccharaides.

a- One b- Two {“Q‘Q\\t’“‘? c- Three d- Four
8- Glucose is a AN Sl

a- Monosaccharides  b- Disacchayide c- Polysaccharide d- Protein
9- Majority of carbohydrates: a\}e% carbon to hydrogen to oxygen ratio of

AR - -

a- 1:5:1 3= :2,-54;2 c- 1:2:1 d- 2:1:3
10- Starchisa -~ \V 5

a- Polysaccharide “. f%.f‘ﬂB;;l;isaccharide c- Monosaccharide  d- Protein
11- Glycogen i$store-in’ our

a- Muscle \‘E;»tf,ﬁ Liver c- Bone d-Botha &b

12- Nucleotides,consist of
a- Phospha;te“-{f\?‘;wf b- Pentose sugar  c- Nitrogen base  d- All are correct
13- Sucygseis extracted from the

a-S gar\cavms‘:f‘-*’ b- Cucumber c- Fruits d-Botha &b
14- B{j\tger-.,‘and beef fat are ......c....... at room temperature.
a- Liqt<i)§l‘> b- Solid c- Gas d- Hot
15 Itais Storage polysaccharide in plants.
Q «g} crose b- Maltose c- Lactose d- Starch
16-) ‘This sugar is found in milk. |
a- Sucrose b- Maltose c- Lactose d- Starch
17- How many types of RNA are produced in nucleus?
a-m-RNA b- r-RNA c- t-RNA d- All are correct
18- The protein which transport oxygen in human
a- Hemoglobin b- Myoglobin c- Myosin d- Adenine
19- Amino acid is the monomer of
a- Proteins b- Lipids c- Glucose d- Fats
20- Which of the following is the six carbon monosaccharide
a- Glucose b- Ribose c- Ribulose d-maltose
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21- Exoskeleton of insects and crustaceans are made up of
a- Cellulose b- Protein c- Lipids d- Chitin
22- Saturated fatty acids contain
a- Hydrogen bond b- Double bond c- Singlebond  d- none
23- Lipids are ..........
a- Soluble in water  b- Insoluble in water
24- e tend to have a protective function in living organisms.
a- Fats b- Starch Cc- waxes dy Rratejns
25- A protein is formed of <
a- Amino acid monomers  b- Fatty acid monomers ¢ Bd%
26- Pentose sugar in DNAs .......... : B
a- Ribose b- Deoxyribose %I@ e d- none
27- r-RNAs %
a- Messenger RNA b- Ribosomal RNA o £ Transfer RNA
28- Lactoseis a / /:\: ﬂ -
a- Polysaccharide b- Disaccharide o Menos,‘ag:charide d- Protein
29- The unit of nucleic acid is . i{
a- monosaccharaides  b- Amino acidsj&ijs\e\Fauy acids d- Nucleotides
30- The six carbon sugar is called......... 2\ \j}’
a- Pentose b- Hexose .{| ™. c-Botha&b d- none
31- Glucose is stored in our liver in the form of glycogen. a- True b- False
32- Plant oil is an unsaturated fats. a- True b- False
Fill in the blanks with the correct' answer:
33- The organic molecules are:....\ i mennenee. types.
34- Lactose is a disaccharide found in...........c.cooeeeecenns
35- Glucose, with six car@p;\ét’gnﬁs, is a hexose and has molecular formula of........
36- e are the p,rdt;einS",,re’é,‘ponsible for defense from diseases.
K7 are the proteins responsible for the form of hair and nails.
38- Whatis theinj)(\)s,g imp ortant role of Proteins? .........ccoeevereeeeirenecereereneeseesieee s
39- If one DNA itfé{lg/srread ATC GGG TCC CAA , what will be the second strand?
% W R

--------------------------------------------------

40- Nam’geft‘h’e'_'éﬁ’gaffwe USE AL NOME? e ee e

< ~

| Chapter (1): The Chemistry of Organic Molecules
1 Do) 2 D 3 B 4 C 5 A
6 4 D 7 B 8 A 9 C 10 A
G D 12 D 13 A 14 B 15 D
16| C 17 D 18 A 19 A 20 A
21 D 22 C 23 B 24 C 25 A
26 B 27 B 28 B 29 D 30 B ﬂ
31 A 32 | A | |
22: onnquy L :;: mg o A35- CsHi20¢  36- Antibodies  37- Keratins )
GG GTT 40- Sucrose

BT - T
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. Chapter (2): The Cell Struefure and Funetion

Choose the correct answers:
1- The smallest unit in the structure of living organisms is

---------------

a- The cell b- The tissue c-The organ d- The orgas ) em
2- The cell theory states........ %

a- All organisms are composed of cells.

b- Cells are the basic units of structure and function in orgam

c- Cells come only from preexisting cells.
d- All of the above. %

3- The nucleus is separated from the cytoplasm by a doub@e rane known as:
a- septum b- Nuclear Envelope c- Nucl us - Chromatid

4- The membrane bound vesicle which contain en whose action result in
Hydrogen peroxide (H,0,) is Zé
a- Chloroplast  b- Peroxisome

5- Rough Endoplasmic Reticulum ER is studdedw

|bosome d- Mitochondria

a- Nucleus b- Ribosomes E‘:"C\b‘loroplasts d- Mitochondria
6- The semifluid inside the chloroplast '5\(\1\

a- Nucleoplasm b- Matrix \ .. >C- Stroma d- Cytoplasm
7- Stroma and granum is found msnde the,..%?\ ..............

a- Nucleus b- Golgi apparatus > c- Chloroplast  d- Vacuole
8- Which among the followmg have pro]<aryot|c cells

a- Bacteria b- Archaeax v c-Botha&b  d- none
9- Many bacteria have an extra chromosomal piece of circular DNA is called........

a- Flagellum b- Centromere c- Plasmid d- Chromatid
10- Spherical shapeglﬂ bactenum is called...........

a- Spirochetes . ‘lb Coccus c- Bacillus d- Spirillum
11- Lysosomes ag\e produced by....cc....

a- Golgi apparatus } 'b- Ribosomes c- Chloroplasts d- Mitochondria
12- Rod spaped bacterlum is called...........

a- Splrochetes * b- Coccus c- Bacillus d- Spirillum

13- Powel; houses of the cell is.............
a- En oplasmlc Reticulum  b- Ribosomes c- Chloroplasts d- Mitochondria
14- The semlﬂwd inside mitochondria is

aliNu Ieoplasm b- Matrix c- Stroma d- Cytoplasm
fl%\)/éﬁtack of thylakoids iS @ ..........eenen.
Nucleus b- Granum c- Cristae d- none
The organelle which carry out photosynthesis is.................
a Golgi apparatus  b- Ribosomes c- Chloroplasts d- Mitochondria
17- The colorless plastids that synthesizes and stores fats and oils are........
a- Chloroplasts b- Chloroplasts c- Leucoplasts d- Protoplasts
18- The cell organelle discovered by Camillo Golgi in 1898 is....
a- Golgi apparatus  b- Ribosomes c- Chloroplasts d- Mitochondria
19- The cell organelle which carry out lipid synthesis.......
a- Smooth endoplasmic Reticulum b- Ribosomes c- Chloroplasts
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20- The control center of the cell is........

a- Nucleus b- Ribosomes c- Chloroplasts d- Mitochondria
21- Plant........ contain water, sugars, salts, pigments and toxic molecules.
a- Cell wall b- Chloroplast c- Vacuole d- Peroxisomes

22- It has a very low pH and store powerful hydrolytic digestive enzyge
a- Golgi apparatus  b- Ribosomes c- Chloroplasts d- Lys S0

23- The site of photosynthesis............. &7

a- Golgi apparatus  b- Ribosomes c- Chloroplasts tochondria
24- The cell which has nucleus is called.......... %?

a- Prokaryotic b- Bacteria c- Eukaryoti otha&b
25- The site of protein synthesis is......... %

a- Golgi apparatus  b- Ribosomes c- Chlorqplast:sf’ d- Lysosomes
26- A ribosome is made up of ............... subunits. \}/

a- One b- Two c- Three“z / d- Four
27- Photosynthesis is a process requires.......... N

a- Water b- CO, c-\Sunllgﬁt d- All are correct
28- A large central vacuole is found in the.?@?‘\?‘? \

a- Fungal cells b- Plant cells {‘?" Anlmal cells d- All are correct
29- Animal cells, plant cells and those"oﬁfu_ngl and many protests are...........

a- Prokaryotic {“““‘ N b- Eukaryotic

30- ATP(energy) is produced m{the quIOW|ng cell organelle............

a- Golgi apparatus  b- RIbOS‘OIT{eSA‘ > ¢- Chloroplasts d- Mitochondria
31- Prokaryotic are so named,«because ...........

a- They lack membrane: bounded nucleus

b- They have membrane Bgaunded nucleus

c- They have membranelboﬁnded cell

d- none *
32- ER does no; have attached ribosomes.
a- Smooth ER } ) *" b-Rough ER c- Botha &b d- None
AN ,
{ ) 3"
AN
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Fill in the blanks with the correct answer:

36- Spherical shaped bacterium is called........... —

Chapter (2): The Cell Structure and Function
1 A 2 D 3 [oB | 4 B 5 B
6 C 7 C 84l N\ C 9 C 10 B
11 A 12 C A3 "/ D 14 B 15 B
16 C 17 c ‘|18 A 19 A 20 A
21 C 22 D~y 23 C 24 C 25 B
26 B 27 |~ Dy 28 B 29 B 30 D
31 A 3% A7
_ e 2}
33-| 1 Nuc!eolu/s,&l_Z_\F)i‘é‘ugh Endoplasmic Reticulum | 3 (Smosth Endoplasmic Reticulum

4 Mitoch"oﬁa_r’j’jd“n’/ | 5 |Golgi apparatus
34- Prokaryotic cells ( Bacterial cells )
35- Chloroplast"’
36- Coccus v
‘\ N ‘L“,‘

0559132475 Cz I

Scanned by CamScanner



5 (Chapter (3): The (ell Cycle and Cellular Reproduction

choose the correct answers:
1- Mitosis is the division of.........
a- Somatic cell  b- Reproductive cell c- Vacuole
7- For adult mammalian cells, interphase lasts for about
a- 10% b- 20% c- 70%
3- The diploid number of chromosomes 1S

a-n b- 2n c-3n w
4- In human the diploid number of chromosomes 1S..eees e
a- 46 b- 64 c- 23 (§§§>§ d-32

5- Set of stages that takes place between two cell diViSIQAS JS.....ccouneeeens '
a- Cell cycle b- Apoptosis c- Mutat] @ d- Photosynthesis
6- Division of cytoplasm is.............. A
a- Crossing over  b- Cytokinesis c- Gametoggnesis d- Cell cycle
7 e is the time when a cell performs its’]‘usug\l fldnctions.
a- Prophase b- metaphase €= "Anaphase d- Interphase
8- The cell doubles its organelles durifig....s
a- G b- S Me G d-M
9- Function of mitosis is, it permifs:. .5,
a- Growth b- Repair.~ : \¥cyBotha &b d- none
10- Gi, S, Gyare parts of:lii.id
a- Prophase b- metaphase” c- Anaphase d- Interphase
11- Cytokinesis in plant:cells involves the building Of.................
a- Cell plate b--Plant.cell central vacuole c- Cleavage furrow d- none

12- The centromefeS of the duplicated chromosomes are arranged at the metaphase
plate( the center of the cell ) during.................

a- Prophase®. " b-'metaphase c- Anaphase d- Interphase
13- This cell:division requires only one nuclear division............
a- Binafy_fission b- Mitosis c- Meiosis d- All are correct
14- Qa‘(\ét;e\rgé\fr;e‘produce by means of.............
q—@in‘a;ljy;ﬁésion b- Mitosis c- Meiosis d- All are correct
15- \:I;hs;full number of chromosomes presents in all cells of the individual.
| a-*i;l}apfoid b- Diploid c- Polyploid d- All are correct
<1‘€>-<»-,>In mitotic stage the cytoplasm divided in.............
(’\\\,a Mitosis stage b- Cytokinesis stage c-Botha &b d- none
N 97- The formation of metaphase plate occurs in.............
“  a- Prophase b- metaphase c- Anaphase d- Interphase
18- During which stage of interphase, DNA Synthesis occur............
a- G, stage b- S- stage c- G, stage d- All are correct
19- Clegvage furrow formation takes place in................... cell.
a- Animal b- Plant c-Botha &b d- none
| necgqaoaze  Ueoe M
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20- Identify the stage of cell division:

----------------------------------------------------

21- Identify the stage of cell division:

A,
Fill in the blanks with the correct answelf
22- DNA synthesis or replication oc.;\chr,s durmg ............... stage of interphase.

Chapter (3): The Cell Cycle and Cellular Reproduction 7

1 A 2 DAVL'3 B 4 A 5 A

B 7 {D-\} 8 A 9 C 10 D
11 A 12 /|~ B 13 B 14 A 15 B |
[6 [ & 1 p]76 Jw] 8 Jwol A |

20- Metaphase of M|t05|s
21 - Anap@se of M|t05|s
22- S ‘\.“\:’ : #

A
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ow ¢ 4 1 Chapter (4): Meiosis and Sexual Reproduction

choose the correct answers: )3
1- In this nuclear division chromosome number becomes half to paren

a- Binary fission b- Mitosis c- Meiosis d- All are,COrreer;,
7- Alternate forms of a gene are called................ %

a- Allele b- Chromosomes c- Nucleolus Apoptosis
3- MeioSiS ProdUCES ......vesueeenesesness haploid daughter cells.

a- One b- Two c- four d- Eight
4- Fusion of gametes forms of a cell called...........

a- Zygote b- Matrix c- Nuc# lYsY d- Ribose
5- Exchange of genetic material between non-sister chrematids in a bivalent iS.....

a- Crossing over b- Cytokinesis c eiosl d- Photosynthesis
6- In female meiosis is part of............ and form~’€g\g&

a- Oogenesis b-Spermatogenesis A c-\F{Eredity d- Matrix
7- How many nuclear divisions occur during:meiosis?

a- One b- Two ~ N Ucf Three d- four
8- In human males, spermatogenesis,occurs;yyit'hin the.........

a- Ovary b- Testes {/ ¢ c-Muscle d- Botha &b
9- Spermatogenesis produces..........

a- Child b- Eqg ' c- Sperm d- Fetus
10- The diploid number of chromosomes are present iN.............

a- Zygote b- Egg¥ | . c- Sperm d- Ovum
11- In females, oogenesis occurs within the.........

a- Ovary b-Testes c- Muscle d-Botha &b

QN
p \\{:\ \ o
{ON
\, e N\
t_\ *\‘"{;u‘:f'
O A Y Chapter (4): Meiosis and Sexual Reproduction

T dve | 2 A 3 C 4 A 5 A

6 |\ A 7 | B | 8 B 9 C 10 A
11 A
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(A) Wright True (T) or False (F) ( ch. 1,2,3,4)

1- Glycogen is the reserve food material stored in liver.

5- Rough endoplasmic reticulum does not have attached ribosomes.
3- There are 10 amino acids, found in the living organisms.

4- At the end of meiosis four cell are formed.

5- In eukaryotes binary fission produces new individual.

6- The command center of cell is peroxisomes. V
7- During meiosis chromosome number becomes half to paren %

t
8- In plant cell a cleavage furrow is formed during cytokinesis”./@
0- Mitosis permits growth and repair. N
10- Butter and beef fat are solid at room temperature}f:;jﬁ;;;j«~, />
(B) Wright True (T) or False (F): ( ch.}ﬁl;j??:,'a:(-?l)
1-Gene is the unite of heredity. R\
7-During meiosis two nuclear divisions occufs.
3-Wheat, corn, and rice, are the majorfgéﬁféés;_pf starch in the human diet.

Py
Vs
F
#

)
)

(

(
%, \ (
4-The cell increase in size and doub_Iﬁejtﬂfg;grfgénelles during G2 stage. ( )
5- Sister chromatids part and moxlfgzﬁfgq\ix{a;g;s’t'he opposite poles during telophase. ()
6- Hemoglobin is a complex protéin"'gtﬁatjtfansports oxygen. ( )
(C) Complete the following:(mid 1)
1- DNA synthesis or replication: 0CeUrS during.............. stage of interphase.
2- Spherical shaped bagté‘riﬁm’f’ié;éalled .........................

3-Meiosis produces .. k... :haploid daughter cells.
(D) Fillin thé blanks:(mid 1)

Help
[ Vacuoles , 46 ,Sugarcane, G1, Gene, Anaphase, Hemoglobin, 2
)

\ v
1-At Z?e en\q,o? MItOSIS....cvverueenrns cells are formed.
2! A5 the unit of heredity.
3 % V......is a complex protein that transports oxygen.
4-The'cell increase in size and double its organelles during................
5-In human there are ................ number of total chromosome.
6-Plant................ contain water, sugars, salts, pigments and toxic molecules.

7- Sister chromatids part and move towards opposite poles during
8-Sucrose is extracted from

BT )
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(e) Fillin the blanks:(mid 1)

Help Peptide bonds, 20, Zygote, G1, Golgi apparatus, Nucleoctide,
Cytokinesis, Muscle, Cell plate, Oogenesis

Box

1- There are .....cccceeees amino acids. found in the living organisms.
2- Proteins are made from amino acids linked by.......c....-

3- In plant cell a.......... is formed during cytokinesis.

4- The division of cytoplasm is KNOWN @S....eeemeeesenes

5- Camillo Golgi diScovered.....oueeueseeessess @%

6- Glycogen is store in our liver and........coeeseeenreaee ’
QN
7- In female meiosis is part OF oreereenrennes and form egg. A~

8- The fusion of egg and sperm form a cell called.....ccoceemenees (27’?5 )

(F) Fillin the blanks:(ch.1) PONTA
| \7 DNA , Chitin , Antibodies , Chloroplast

1-The exoskeleton of insects aré made up of

p R is present only in plant cell. &y~

3-The genetic material in living orgamsmmsmade up Of e

Y I are the proteins resp(oﬁs‘if)lél,f‘cif ‘defense from diseases.

(G) Match the following: i(¢h.1,2,3)

Maltose oo, A Starch
Lysosoriie \"\/ Disaccharide
Chloréplast.” / Glycoproteins
_Mitosis) } Nucleus Absent
“ Ricg" Division of Cytoplasm
Endoplasmic Reticulum Hydrolytic Enzymes
\ §-Stage Photosynthesis
4> ~.Cytokinesis One Nuclear Division
[ Prokaryotic Cell DNA Synthesis
C:"' | Eukaryotic Cell Plant and Animal

,\Q_Cb\lo\U'l-wai-t

l—l
o
/|
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(H) Match the following: :(ch.1,2)
A B
1 Mitochondria A Protein System
[ 2 Nucleus B Transport Oxygen
3 Ribosomes C Bower House of cell €.
2 | Smooth Endoplasmic | D Control Center of @S
Reticulum the Cell
5 Camillo Golgi E Lipid Synthesigy, &=
6 Hemoglobin F Golgi Appaydiuany’ 2
(T)_ Match the following: :(ch.1,2,3,4) 5"
A B
1 Milk sugar A ~“Eour ells
2 Meiosis B Kd Dactose
3 | Command Center of the Cell | C SO poyAllele
4 Ribosome D |\ oy Two Cells
5 Mitosis EA\ \ (Protein Synthesis
6 | Alternate form of a genes . 'QE; ;%\ff Nucleus
f\—%i\nswers
M )T @F GF @OHLEF ©OF OT © F @T (0T
A NS
@: T T QOTC@R GOF OT
: 2 CcC 3)
©: s @ ;Qﬁ?t\ 3)
(D): (1)2 <5’Eg«3;'geﬁe (3) hemoglobin (4) G1
(5) 46 %(6)%,~\7’acuoles (7) anaphase (8) sugarcane
(E): (1)20 & . (2) peptide (3) cell plate (4) cytokinesis
(52,.%glgi‘a’pparatus (6) muscle (7) oogenesis (8) zygote
AL
(F): (1)chitin  (2) chloroplast  (3) DNA (4) antibodies
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'%‘»‘f‘—ﬁ‘%‘v TR TR L e
%ﬁéggg the correct answers: 1
|-The vertebrate animals have a........ ELJ—L ﬁ_ulatory system.
a- Open b- Closed c- Dua d- Botha &b
2-All vertebrate animals have closed cireulatory|system which is called.......... system
a- Respiratory  b- Reproductive C- rdiovascular d- Nervous
3-This part of heart is thick and pump he-blo 0d.
a- Atria b- Ventricle c- Vé} €S d- Septum
4-This is the blood vessel which carries“b 0 rd,,?a ay from the heart.
a- Arteries b- Veins c- Capillarjes d- None
5-The human heart has............. chambgrs:
a-1 b- 2 c- ﬂ;ﬂ d- 4 . _
6-The normal average human heart beaté are.about......... times per minute.
a- 20 b- 40 c-50 d- 70
2-The valve on the left side is called the,bicucf‘:p.[;i because it has........- flaps.
a-2 b-3 - 4= -

.

8-Mitral valve is............ - _
a- Tricuspid valve  b- Pulmonary valve __.-¢ Bicuspid valve d- All are correct

9-The liquid portion of blood is called... .

a- WBCs b- plasma ———=c-Platelets d- RBCs
10-  Thrombocytes are........ = [
a- WBCs b- plasma — ;R;'vf“c-PIatelets d- RBCs
11-  Function of the atrium iS......... {_}%«
a- Receives blood . | b- Retunes blood to the heart
c- Sends blood away from the heart LI~ _d- All are correct
12-  Red blood cells are manufacturgfl;irj?.'..j;.v."f; ..............
a- Red bone marrow b- Brain __——C:The liver d- Stomach
13-  The outer membranous sac of the:héart is called..........
a- Endocardium b- Pericardium~——c-Epicardium d- Myocardium

E

14-  The atrioventricular valve presewﬂiljg right side of the heart is called.......
a- Tricuspid valve  b- Pulmonary va ve—c-.Bicuspid valve  d- All are correct

S casmntas et

15-  Septum separates the heart into--aw-riahﬁ’gf“side and left side.

Iz s v

a- True (/-“_: b; false
16  The contraction of heart chambers-is called.............
a- Systole b- Diastole ¢-Inspiration d- Exhale
17-  This blood cell lack nucleus. A Q|
a- WBCs b- plasma ——"c-Leukocytes d- RBCs
18-  The thick walled chamber of heartia. ...
a- Atrium b- Ventricle c- Arteries d- Capillari
I - Capillaries
19- - ghe human heart lies within ........ o ™ P
a- Endocardium b- Pericardium '=—¢-Epicardi [
~—c-Epicardium d- Myoc
20-  The human heart has............. valvesn | yocardium
1 -2 i et
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21- What is the correct name of re
a- Erythrocytes b- Megakaryocy:
22- RBCs are small..........c.e..... /

a- Biconvex b- Spherical
53-  Function of blood include........
a- Transports gases, nutrients, wastes gy “hdrmones.
b- Destroy pathogenic microorganis .= C'!
c- Distributes antibodies that are impeg/aﬁt‘ﬁimmunity.
S/

{b=—c-Leukocytes d- Thrombocytes

d- Biconcave

d- All are correct.
74-  Red blood cells have a pigment callédl..

a- Hemocyanin b- Plastocynin Emc:l Hemoglobin d- All are correct
5. Platelets are produced by the fragment (HON Of.ooocoeeccneee

a- Monocytes b- Megakaryocytes'- - c;Leukocytes d- Thrombocytes
26-  Red blood cells has o

a- 120 days of life b- No nucleus__ ~C- Hemoglobin d- All are correct
27-  Platelets are........ "]

a- Thrombocytes b- Helps blood-clotting c- Both d- None
28-  Semilunar valve has a shape o] 7SR,

a- Half moon b- Full moon="" -~ c- Cup d- None

29- Capillaries ..........
a- Exchange material with tissue fluid

~b-'Carry blood away from the heart

c- Return blood to the heart. ~_ "d-Botha &b
30- Approximately there are ......... m_iulllion_bred blood cells per cubic millimeter.
a-3 b- 4 -5 d-7
31-  Platelets are manufactured iMookl
a- Red bone marrow b- Brain . c-The liver d- Stomach
32- e in red blood cells is a transport protein that delivers 0, to working muscles.
a- Nucleic acid b- Amino acid | (.C Hemoglobin d- All are correct

33-  The aortic semilunar valve lies between the left ventricle and the ......
a- aorta b- Pulmonary veins  cyInferiorjvena cava d- Superior vena cava
34- return blood to the heart:=—

a- Atrium b- Veins -~ c- Arteries d- Capillaries
35-  The superior vena cava and inferior Ve’r‘\‘a cava carry blood to the......

a- Right atrium b- left ventricle 1_“ ¢ Right ventricle d- None
36-  The smallest blood vessels are..::....w

a- Atrium b- Veins L 'ct Arteries d- Capillaries

37-  The formed elements or blood cellé‘iﬁVé;lved in blood clotting or coagulation are
a- Erythrocytes b- Megakaryocytes-. c-Leukocytes d- Thrombocytes

38 e exchange material with tissue fluid.

a- Atrium b- Veins - C- Arteries d- Capillaries
39-  The inner surface of the heart is lined with........

a- Endocardium b- Pericardium c-Epicardium d- Myocardium
40- Theterm ........ refers to the relaxation of heart chambers.

a- Systole b- Diastole c-Inspiration d- Platelet

T © R
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T —
= __ . Chapter (5): Circulation and Cardiovascular System

B I 2 C 3 B | 4 A 5 D
—=T5 | 71 A |81 C 5 | B 10 | C
1. A 12 | A 31 B | 14| A 15 A
%1 A || D 118 =1 10| B 20 D
21 A 22 D 23 D | 24 C 25 B

=T o |2 | ¢ |28 A % | A 30 C
=T A |32 c |33 A 3% | B 35 A
=1 D |37 D 13810 9 | A 40 B

__.___———_——-——_—.—_————-—-—--——
——— ..___—_—_——-—.———
_.———-——————_————_—————_—.————_——_—————______________.______
—-‘——'—-———-—_———————_@_——_—-——-—-—.———‘———

.s_'._'_____——__—._.__—_:-—__

I UPIT A Chapter (6): The Human Digestive System

Choose the correct answers:
1- Human have a.... digestive tract, which begins with a mouth and ends in an anus.
a- Incomplete b- Complete c- Pancreases d- Large intestine
2-  Functions of the digestive tract include.......ccees
a- Ingest food
b- Breaks food down into small molecules that can Cross plasma membrane.
c- Absorbs these nutrient molecules. .
d- All of the above.
3- Chemical digestion requires.......that are secreted by the digestive tract or by
accessory glands that lie nearby.
a- Enzymes b- Teeth c- Villi d- Epiglottis
4- The........ mixes the chewed food with saliva.
a- Teeth b- Saliva c- Tongue d- Palate
5- The stomach is a thick walled organ that lies on the.......side of the body.
a- Right b- Left c- Middle d- Upper

6- The wall of the small intestine contains finger like projection for absorption of food.
It is known as

— —— ——
_______—————.——-——_—_—_—_—_—._—_———_ —_—

a- Villi b- Gastric glands c- Pancreases d- Large intestine
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This part takes food from mouth to the stomach.

a- Esophagus b- Intestine - Alveoli d- Trachea
g The length of first 25 cm of small i festinets called.......

a- Duodenum b- Jejunum =tletm d- none

The saliva is secreted by.........
/ a- Pancreas b- Liver c- ‘al"iféry glands d- Intestine

j0- This closes air passages during swallowing.|

a- Alveoli b- Epiglottis Lo d- Pharynx
11- Digestion of proteins begins ) T ~

a- Mouth b- Small intestine (&4 d- Large intestine
12- Cecum and rectum are parts of

a- Esophagus b- Small intestine ¢ Sitomach d- Large intestine
13- The digestive and respiratory passa""é'étégde together in the following part...

a- Larynx b- Pharynx i cf;i}jachea d- Bronchus
14- Which one of the following is the largest-gland of the body?

a- Liver b- Pancreas c- Stomach d- Salivary gland
15- The secretion of insulin and glucag'o,[rhor"r'n‘ones takes place by the following gland.

a- Esophagus ~ b- Small intestine “ezliver d- Pancreas
16- Digestion of starch begins in the..oeoeeeeeeees

a- Mouth b- Small intestine - c=Stomach d- none
17- Protein is digested to peptides in stomach-by.......--

d- Maltase

a- Amylase b- Pepsin c—ifrqygsir)'ti
18- The large intestine includes......c....- 3]
a- The cecum, The colon, the rectum and-anus.
b- The cecum, The colon, villus and abu’s_. 2
c- The cecum, The colon, duodenum and.anus.

d- The cecum, The colon, the rectum g‘ﬁd‘,gallbladder.
and its digestion completes in the......

19- Starchisa polysaccharide,

a- Mouth b- Small intestine ¢c- Stomach d- none
20- Salivary glands Secretes...........

a- Amylase b- Saliva c- Trypsin d- Maltase
21- One of the following is a part of small intestine.

a- Cecum b- Rectum c- Colon d- Duodenum
22- There are only oné pair of salivary gland that send saliva to mouth.

a- True b-False
23- The coeeerereerneens closes the air passages during swallowing.

a- Epiglottis b- Pharynx -~ c~Trachea d- Tongue
24- Vil and microvilli are found in.......... p——

a- Esophagus b- Small intestine i~ - c- Stomach d- Large intestine
25- The rectum is the part of.............. —

a- Liver b- Small intestine _ c-;Stomach d- Large intestine
26- Starch is converted to maltose by...... ......

a- HCl b- Peptidase ~—¢- Salivary amylase d- Pepsin
27- Gastric juice has low pH due t0.......

a- HCl b- Saliva c- Salivary amylase d- Trypsin

28- Salivary glands are.........

| T ©
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- pigestive tract organs b- Accesseryor
49 The length of small intestine is aboptJL,.

Jans c- Botha &b d- None

a- 3 b- 4 ) = BT d-6
30- THE weoeees , or the oral cavity serves gg:the.beginning of the digestive tract.
a- Accessory organs b- Small intestineg= c- Stomach d- Mouth
31- Digestion of fat droplets is carried OUEBYL. ...
a- Lipase b- Saliva TGeoalvary amylase d- Trypsin
32- Each villus has thousands of microscopic-extensions called..........
a- Alveoli b- Microvilli (&£, rg— tria d- Platelets
33- The ......... transports nutrients from in atifles to the liver. _ .
a- Aorta b- Hepatic portal vein  ¢- Pulinonary artery d- Pulmonary vein
ETN
— Chapter (6): The Human Digestive System
1 B 2 D 3 | A1 | 4 C B
6 A 7 A 5 F=A" | 9 | C BD
11 C 12| D | 13 4| A
% | A ——% | 8 L A~ |19 B =
21 D 5 | =5 A | 2| B D
17 ~ | 8 |» D =
31 A 32 B 33 |~ B! |

rtpeumé y4 sn3eydos3 -1
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e A RESDIFGOTy:Sistein
~ puring «......- the rib cage goes up azd oG- .
1e,(pand and air comes rushing in. P %—Tm:_o :?“d the diaphragm lowers. The lungs
3- Expiration b- Inspiration Hg ol
. . : \' -
5- Major lung disorders are usually dueto... ! d- Trachea
a- Cigarette smoking b- Badfo5dRabit A
3- In Bronchitis disease .......... o= it c-Air  d- Water

a-Airways are inflamed due to infect%?)“r‘r:
b- Alveoli fill with pus and fluid.

c- Fibrous connective tissue builds up-in”tghe’lungs.

d. Alveoli burst and fused into enlarged aifyspaces.

4- 1In the disease airways are inflamed-afd-bronchioles constrict.
a- Asthma b- Tuberculosis || [7] E|Emphysema  d- Pneumonia
5- Which is the respiratory disorder? L

a- Chronic bronchitis  b- Tuberculosis ¢=Emphysema  d- All are correct

6- During ........ the rib cage goes down-and-if and the diaphragm rises and air comes
rushing in. e
a- Expiration b- Inspiration ¢ Systole d- Diastole
7= s are two of the most serious conseqgences of smoking cigarettes.
a- Emphysema and lung cancer b-{Pulmonary fibrosis ¢ Asthma & pneumonia
o R is the main of lung diseases~—"
a- Malnutrition b- Anemia  c>Cigarette smoking d- Sleeping
9- Pulmonary tuberculosis infects the. ... h.System.
a- Digestive b- Cardiovascular ... “c=Respiratory d- Nervous
10- e are examples of respiratory @iéégsés%
a- Pneumonia and tuberculosis i ““i;w% b- Anemia and diabetes
c- Diarrhea and blood pressure [ [ d- All answers are wrong
11- In chronic bronchitis the air passages-arg. ...
a- Burst b- Inflamed | = c=Constrict d- All are correct
12- DUriNg ..ooveveenes air enters the body at nasal cavities.
a- Inspiration b- Expiration ©"c-Botha &b d- None

B

13- Major lung disorders are usually dué-to....n..........

a- Smoking  b- Eating more fats é;;;c;-;;l,(i,néot exercise d- All are correct
14- Fibrous connective tissue builds upifi.Tungs, reducing their elasticity in.....
a- Chronic bronchitis  b- Tuberculo%i?.’i’f’é}:Emphysema d- Pulmonary fibrosis

15- The main function of respiratory systerfiz.}...
a- To break food particles m,m.bj Supply blood with oxygen
c- Circulate blood - d;-jNone
16- Inside lungs exchange of gases takes placelin.............
a- Alveoli b- Trachea c- Lapynx d- Epiglottis
g
4 ﬁ’:“::“'\,
(=
L ormns ot
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Choose the correct answers:
1- Function of nervous System are
a- Receives sensory input b- Performs integration of all input
c- Generates motor output d- All are correct
2- Central Nervous System includes
a- Brain b- Spinal Cord c- Nerve cell d- Botha &b
3-These cells providing support and nourishment of neurons.
a- Neuroglia b- Cell body c- Axon d- Schwann
4-Unit of nervous system is
a- Neuroglia b- Neuron c- Nerve cell d- Bothb &c

a- Peripheral Nervous System b- Central Nervous System
c- Brain d- Cell body
are nervous tissues.

a- Brain and heart b- Neuron and neuroglia

c- CNS and stomach d- Brain and lung
7-Which among the following is part of neuron?

a- Cell body b- Dendrites c- Axons d- All are correct
8- Which of the following transmits nerve impulses from stimulus to CNS?

a- Interneuron  b- Sensory neuron c- Motor neuron d- All are correct
9-The glandular activity and secretion are controlled by

a- SNS b- ANS c-Botha &b
10- Which of the following is part of brain?

a- Brain stem + mid brain  b- Diencephalon c- Cerebellum  d- All of them

TEST (7): Chapter (8): The Human Nervous System
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mrect number in front of the correct statement:
:

Tagl 3 Jiges e gy s il

i |Brain (31) pairs
5| Parasympathetic nerves Controls smooth muscle
3 | Cranial nerves (12) pairs
4 |SNS Diencephalon
5 | Cerebrum Raise blood pressure.
6 | PNS Control over skeletal muscles.
7_|ANS Increase glandular secretions
8 | Spinal nerves Divided into two cerebral hemispheres
9 | Sympathetic nerves ‘The central nervous system _
10 | CNS Peripheral nervous system
R 2
Cell body. Functional unit.
Take nerve |mpulses from sensory
AXONS receptors to the CNS.

Motor (efferent) neurons.

Formed by Schwan cells.

Neuron

Support and nourlsh neurons

Neuroglia Form nerves.

Dendrites Have nucleus and organelles
Sensory (afferent) Receive signals and transmit to cell
neurons. body.

Myelin sheath.

Take nerve impulses from the CNS to
muscles.

A

~|e

cr @

~|n|o|~ s

° Label the given figure:

Dendrites

Axon

Axon terminal

Nucleus

Cell Body

Myelln Sheath

42 5 51
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complete the following:(mid 2)(5
Food passage and air passage come-t

v : _gether [ [
> A flap of tlssug cal_led ............... clgses’the air passages during swallowing.
[ 5 e TECEIVE signals from other nerve cells.
SR is the contraction of heart chiambers.
g- Air passes through: Trachea----> Bronchtis—--->Bronchiole-——->..........
G eeereeseeeens transmit nerve impulses frong-stimulus to the CNS.
7. Number of RBCs in cubic millimete”i"g%glood 1Surecuenres million.

.......... carry blood away from the heart.
The stomach lies on the..........sideoEthe body.

Alveoli are filled with pus and fluid:irthe disease
Protein digestion begins in the.. s

Fwesessgned

%0

The small intestine length is abd,;ig”““::-'i

The life span of RBCs is about Lommadays.

.......... separates the heart into aright @
All vertebrate animals have .......}»...‘._l‘;g_'Lrﬂcuilatory syst_em._
Starch(polysaccharide-carbohydraté)‘:”digestion begins in ........

R 1

The normal average human heart beats.l...........cc...e- .

How many pairs of cranial nerves présent in human being......... .
................. return blood to the heart. - |

Give any one disorder of the respiratory system.

The relaxation of heart chambers-is'called.............

The central nervous system consists-Of-c.........and spinal cord.

23- In peripheral nervous system, there arg;.y_ ..... pairs of spinal nerves. (C A2
24- In human, the main respiratory organ iS.............. -

25- The wall of small intestine contains finger like projections call‘ed ...........
26- There are ..........: major pairs of s‘ali\(‘,af'ry}_glands that send saliva by way of ducts to

the mouth.

-

Fill in the blanks:(MID 2)

Help Mouth , 120 , Systole , 25, Pericardium , 6 ,
Neuroglia , Nasal , 3, Vitamins

Box

1- ThEre are ....cocococeeueueseess kinds of blood vessels.
_2- The large intestine absorbs water;-salts-and some............
S T provide support and nour’ishmér];jfor neurons.

4- Digestion of carbohydrates begins Meeeroenereessnans

5- Life span of red blood cells is.......... .....days.

6- The length of small intestine is about.......meter in length.

7- The human heart lies within the ‘

[
----------------

8- The first............ cm of the small intestine.is called the duodenum.
9- During inspiration, air enters the body-at......... cavities.
10- The contraction of the heart chambers is called

(32, 09)
AN
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match the following: :(ch.5,6)

e A B
1 Salivary Gland A | Thin
— | Hydrochloric Acid B | Pancreas
[ 3 Pancreatic Juice C | Stomach
4 Atria D |- Saliva
5 Semilunar Valve E |3 Plasma
6 | Liquid Portion of Blood F p) Half Moon
3

Wright True (T) or False (F): ( cI\._.S,Q,:!Z}j‘Sf)
1- Neuron is structural unit of nervogs:system that transmits impulses.
2-The digestion of protein begins fgjthe,méuth.

3- Pneumonia is a pulmonary disorder.
4- Defense against disease depends on the various types of red blood cells.
5- Motor neurons, transmit nerve impulses from stimulus to the CNS.

6- Due to cigarette smoking the lunigs.are blackened.

— t ddwup AWyl oLl

Dendrites e W |
Axon i 3
Axon terminal 6
}T_udeus i 2
Cell Body i 4
Myelin Sheath _ |- 5
1-the }Jharynx 7 2-epiglottis  3-Dendrites 4-Systole 5-Alveoli 6-Sensory
7- 6m 8-Artereis  9-left 10-Pneomonia 11- Stomach 12- 6 meter 13- 120 |
14- Septum  15-closed 16-the mouth 17- 70 times per minute 18- 12 -
19- Veins 20- bronchitis  21- diastole 22-brain  23-31 24-lung 25-villi
26- three.
: 1-3 2-vitamins 3- Neuroglia 4-the mouth 5-120 6- 6 meter
7. Pericardium 8-25 9- nasal 10- systole

4 ~ ‘“;
3  QC
1 =
6
5
‘ 1-T 2-F 3-T 4-F 5-F 6-T

P e
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, ;Chapler 9: Pnolosiﬁlnesls
/.. sose the correct answer: ||

# C 1 - .
|- The chloroplasts are the site Of]............ . <\\> \
5 Digestion b= Circulation! I c- Photosynthesis ~ d- Protein s ,{@g\g‘;\/y
NN

. /
\\

,. Photosynthesis takes place in ffe ............ ,A
3- Mitochondria  b- Chloroplasi'ti.é; c- Lysosomes d- Cell va<eﬁ\".
3- The light-dependent reactions|ip photosynthesis require theffja&ﬁ a‘t'fan of ...

Photosystems. | ey
a-1 b- 2 . o, R
. i C3 /}}\’fh
4- The light dependent reaction isja part of ........c..... A N

. . . . . L .
a- Digestion b~ Circulation |:  c- Photosynthgsis \d{gpo't’em synthesis
5. The light independent reaction fis a part of ...z \ ¢, )
a- Digestion  b- Circulation | c- Photosynth‘églg*\}'\é- Protein synthesis

6- Photosynthesis consists of twg different reactions, tHese are ......o-wwwe
a- Light dependent and hydratipn reactions . ™

b- Light dependent and indeperfldent'teac‘t:i‘cins" '
c- Light independent and hydration reactions
d- Hydration and dehydration reactions .

7- Light dependent reactions,of ‘thitosynthesis include the transformation of .....
y b- Chemical energy to light energy

a- Light energy to chemical energy '
c- Light energy to Iignri-;?ngr\g‘.]yfi d- Chemical energy to chemlc..al energy
8- Light independent.,,ré‘a‘,‘(;ﬁi;dbs‘”fjf“photOSynthesis include the transformation of .....
a- Light energy to gﬁe\r;nibé‘h'éhdrgy b- Chemical energy to light energy
c- Light energy~t‘*q/lig’hft‘7¢ne’rgy d- Chemical energy to chemical energy
9- Light depeﬁdéﬁtﬁréﬁf@tibn lead|to the production o
2.ofly l b- NADPH molecule only

d- Sugar (CH20)

a- ATP molecute only
- ATP and NADPH molecules |
ad to the production Of wevenens
’ b- NADPH molecule only

10- [.ighgf“ndepéﬁdent reaction lé
a< ATP molecule only i
- ATP'ahd NADPH molecules d- Sugar (CH20)

11- Thefight reactions of photos;'ynthesls are ........ o )l oloeza
a- Light dependent  b- "Photo" division ¢ Energy capturing d- All are correct

12- The Calvin cycle in photosynﬁhesis IS wovvererens
a- Light independent  b- "Synthesis" division
13- The light reactions of photosynthesis are .........
a- Light independent  b- Energy storage c- Light dependent d- All are correct

14- The Calvin cycle in photosynthesis S 1everervens
a- Light dependent b- Light independent  c- Energy capturing d- All are correct

G- All are correct

{\"
A i
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! " the "ghtt; fjﬁi%npd:nt reac%iib?s, ............ are produced.

£ Light _ S A:TP d- Bath (b) and (¢) are correct

/fTHE require the participation of Photosystem I and Photosystem 1 N

| g-Light dependent reactions . %‘\
\/

‘ b~ Light Independent reactign§
¢- Calvin cycle ‘ ,; d- Respiration K
17+ sreeees N1BS MaXiMum absorition at 680 nm. )

Y
a- Photosystem I b- Photosystc'lam I c-Calvin cycle d- Bott @()%%re correct
18- Photosystem I has maximum; absorption at .... nm. ?2“ \ ‘&

a- 660 b- 680 © ¢-700 d-720. W
- ORL
N7l

/&\\ \

Complete the following sentiénces with the corréc\é o)

1) Photosystem II has maximumigbsorption at ... NN

2) Photosystem 1 has maximum|absorption at w\\,:n 0y ‘

3) The light-dependent reactions:in photosynthesis}équi?e the participation of .... ...
Photosystems. N

J'\

~ 1)]c SICHEEEDIE 16) | a
N f - -
i 6. | 7la | D] C| D|b
s {a S "
0 3o~ 8)|d 13)|¢c 18) | ¢
3 NN .
7] A len A 9|c 14)|b
< Sy
, <~ 1| 10)[d 15)|d
wEEIG 0) )
X ) j
v ) ,
19) ... 680... \} 20) .... 700... 21).0 2 ...
NN ‘
N\ ‘
\‘\:\r’/) X
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Photos nTes\s “-
...Is the site of phbtosynthesis;

Mltochondna b. Nu .
/ a .......... .are the structural unltr:::‘g;l ihe chleropclasctzloroplast d. none
4. Thylakoids b. Enzymes ; Faés
3! Photosynthesis involves the....?.. ..... ' d. none
2 ;Etf;‘t'%ip::jtil;’g reactions x clio L::];::;ndepéhdé‘nt'reatﬂohé
4, Light dependent reactions také| place in..
a. Stroma b. Thylakmqls c. Both "a" and "b" d. none

5. Light dependent reactions aré;
a. energy harvest — sy~nthesi§1
6. Light dependent reactions regjire............

a. Photosystem I b. Photbsystem IT c. Both "a" and "b" d. none
7. Photosystem consists of ........|. v And oo

a. Antenna — electron acceptor b. Stroma - thylacoid

c. Both "a" and "b" i d. none

8. Each photosystem absorbs sufflight at the same time. ~ a. True - b. False
9, e is the electron transportisystem.
a. Chlorophyll b. Caroten|0|d c. Cytochrome system d. none
10. The.weeeirnene electron pathwayl produces only ATP.
a. Cyclic b. Noncyclic l ¢. Both "a" and "b" d. none
11. The....cooerenns electron pathway produces both ATP & NADPH '
a. Cyclic b. Noncyclic |  c.Both"a"and "b" d. none
12. The electrons in the cyclic electron pathway , leave P700 and eventually return to it.
a. True b False
13. In the light dependent reactlon ......... energy is converted to
a. light — chemical b. chemical - chemical
c. Both "a" and "b" d. none
14. Photosynthesis process takes place N
a. Roots b. Leaves |c Chloroplasts d. Both " b" and "c"
15. At Photosynthesis, Oz is prodUJced dUring...ceeeveeeereeens
a. light dependent reaction b. light independent reaction
c. Both "a" and "b" i d. none
16. During light dependent reacti%on , O, is produced from :
a. CO, b. H;0 'c. Both "a" and "b" d. none
17. The photosystem II has maximum absorptions at 700 n.m
a. True | b. False
18. ..ccoot HoO + light €NErgy  emmmmmmmmr® CeH120y + .cccoent HEO
The components that missed at the above reaction are:

a. 0, --CO, b. COz -- 0, c. COz--- CO, d. none

050132075 JGEW]wisuei
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| /y Jght independent reactior?s ta!kie place in............
A sroma b. Thylakoids {i c. Both "a" and "p"

/0. Light independent reactions rdquire : d. none

/7 a AT b. Solar energy: ¢, ATP & NADPH d. none
* 21, In the light independent reactjon is also called.........
a. Krepscycle  b. Calvincyde ¢ Both"a"and"d"  d. none
22. The light independent reactiofi, produces CsH1205 ......
a. True ' b. False
23. The regenerations of ribolose [biphosphate occurs at;
a. light dependent reaction ; b. Calvin cycle
c. Both "a" and "b" , d. none
24. Carbon dioxide fixation takes place at:
a. light dependent reaction b. Calvin cycle
c. Both "a" and "b" : d. none
v s ' ‘}(‘ ”, . A
IR NEICHIE S R S
T et | e . : K “ ) D
S M alaralc [o|a | m|es | @A [B]A |14
) -k - = \ A
2 [ )|alie)|B |17);8 | 18)|8B 19)[A | 20)€ 21)\8
& [T22)[a[23)]B [24)]B \
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/ he petiole is a stal

OLUHN.S P/q,ﬂ"

k that attaches the blade to th
2, Shoot system in plants s cons1st$ of:

A, Stem B. Leaves

estem. A -ffue |

C. Flowers

4. Terminal bud occur at the top dfithe stem to elongate and produce new leaves.

A-True B — Fal’se
5. Photosynthesis is a process that irequires :

A. Water B. Carbon diox!q:e C. Sunlight D. All these are correct

6. A typical plant have reproductiv,é organs:

A- Flowers  B- seeds ; C- fruits D- All these are correct

7. Plants that bear leaves the entir{a year are called evergreens.
A -True 5; B - False .

8. Stems are the major part of a plant that carries on photosynthesis.

A—True . B-False
9. e anchor the plant and also absorb water and minerals,

A. Root B- bud .+ C- leaves D- stem

10. Strong .......... conduct water dp to the leaves from the roots.
A- Root B- bud C- leaves D- stem

11. Leaves produce hormones that stimulate the growth of stems.,
A - True B - False

12, .svesseenss and branches : increase the absorptive capacity of the root.
A- Root hairs B- Seeds C- Axial bud D- stems

13, e occurs at the stem that allows the stem to elongate and produce new leaves.
A - Internode B - An axillary bud C - Terminal bud D- Non
14. ... is located at anode in the upper angle between the leaf and the stem.
A - Internode B-Anaxflarybud  C- Terminal bud D- Non
15, ... occurs where leaves a;:re attached to the stem.
A - Internode B - An axillary bud C - Terminal bud D- Node

16. Leaves are the major part of plant that carries on ......

A - Nutrition B - Growth | C - Reproduction D- Photosynthesis
e 7= .
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J, plants that bear leaves the en:tiIPe year are called

/" 5 - Deciduous B - Gymnosperms

] | C - Evergreen D- Flowering
18, Plants that lose their leaves evt?w year are called

A - Deciduous B- Gym_nq,s_;perms ~ C-Evergreen  D- Flowering
19. The wide portion of the leaf is;@:alled the............. |
A-Terminalbud B-Veins'i  C-Petile  D-Blade
20. The .... is a stalk that attaches the blade to the stem.
A—Terminal bud B - Veins C - Petiole D- Blade
21. The upper acute angle betweéh the petiole and stem is the leaf ............ where the

i

axillary bud is found. ,

A - Axil B - Terminal bud C - Petiole D- Blade
22.The ........ leaves , carry out photosynthesis.
A. Tendril B. Fo|iage7‘E C. Spiny - - D. None

23, Cotyledons of mo_nocotyledongplants ......... .
A. Supply nutrients for seedlingg B. Carry out photosynthesis
C . Acts as a transfer tissue | D. All are correct

’ ) d:
4. Tn monocot stem vascular bundle are arrange
’ A. In ring B. Scattered ;| C. Centered D. None of these are correct

25. Leaf veins in Eudicots exhibit parallel venation, but in Monocots exhibit netted

venation. A —True : B- False_
26. Cotyledons of eudicots supply;;nutrlents for seedlings.
A —True IB — False |
27. In the monocots root, the xyl'giem is star-shaped and the phloem is located between
the points of the star. ?f\—True - B f-F'aIse _ -
28. Leaf veins in monocots exhibif.......... venations, but in eudicots exhibit netted

venation. |

A - Parallel B - Pinndte C - Stare D- Palmate
29, Monocots have their flower pérts arranged in multiples of..........
A-3 B-4 .' C-5
30. This diagram is related to: ;:
A - Monocots B -|Eudicots
C - Fungi D-|Algae

31. In the monocot root vascularitissues occurs in.....

A — Bundle B - Ring C - Star . D-Scattered ... .
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ot stem , the vasc
y d!c ular bundles are arranged in
[ 5 - Scattered B - Rifg

----------

‘ C- Star
33 A flowering plant has the ablllty to grow becausé it posses D- None
| SES...:...

A - Embryonic tis |
ry sue B - Apical meristem  C- Meristematic tissue D All

] S— Increase the length bf the plants

A. Protoderm B. Vascular: :

. ar:fin [ '

. . | et g C. Apical meristem D. Ground meristem

. & sibirasinsi Ives rise to epidermis of the plant.

A. Prot i R

oderm B. Vascular ring C. Apical meristem  D. Ground meristem

36, i produces ground tissue of the plant.

A. Protoderm B. Procambiym  C. Apical meristem  D. Ground meristem
37 . ieecisavensucns produces vascular tussue of the plant.

A. Protoderm  B. Procamb|um C. Apical meristem D. Ground meristem

38. The lower epidermis of eudicots plants contain specialized cells around the stomata

called........ A.Bud cell Bi Guard cells  C. Root hairs D. Waxy cuticle -
39. . e cells give flexible support to immature regions of a plant body.
A. Xylem B. Collenchyma C. Sclerenchyma D. Parenchyma
40. Sclerenchyma cells have thick’secondary cell walls Of.....oviens that makes the cell walls |
hard. A. Cellulose B. ngmn C. Vessel elements D. Fibers
41, . e are shorter are found in seed coats and nutshells.
| C. Vessel elements D. Fibers

A. Sclereids B. Xylem '
4?2. The conducting cells of phloer are specialized parenchyma cells called......

A — Companion cells | B — Sieve tube elements

C — Vessel elements i. D- Tracheids
43. In the roots , the vascular tissue is located in......
B. Star C. Vascular ring D. Veins

A. Vascular bundle

44, In the stem , the vascular tissue is forms..............

A. Vascular bundle B. Sta%r C. Vascular ring D. Veins‘
45, In the leaves, the vascular hssues are found in leaf......
A. Vascular bundle B. Star C. Vascular ring D. Veins

46. Collenchyma cells have:
B - Thick primary cell wall

A - Nucleus
D- Both "B"and " C " are correct

C - Lignin
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